TABLE 16, STRESSES AND DEFLECTIONS IN A PIN SEGMENT, k, =4.0, a = 60° #=0.3
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RESULTS AT THETA = 0.00 DEGREES
T PF/RT  SI1GMA R7P1 —SIGMA THETA/PYT —— TAU RTHETA/PY —— EU/RP1 — EV/RP1 -
—15000 =1+0000 -0+2009" 0.0000 151739 = = BRI e
1.250 =0 ,R356 -0,1524 0,0000 00,7673 00000
17500 0. I T# =0,0967 oL, 0000 08167 — (. 0000—
1,750 =0 6256 =-0,0415 0,0000 0,3502 Ne0000
—2,000 =0.5522 o2z —— ;0000 . 2335 0V«0000 — —
2,250 =0 Y486 0,0657 0,0000 N,1487 00000
—2.500 =0,4555 ===}z Le2] 00,0000 0,0833 === 00080 ="
2,750 -0,4409 0,1841 0,0000 N,031n 0.0000
3,000 =~0,4598 0.24772 U, 0000 =0, 0143 0.0000
3,250 -0,5169 0,2840 0,0000 =N,0567 N.0000
3.500 =0.595% 00,2088 0,0000 =0,0980 00000 ———————
3,750 =0,6186 -0,1929 =-0,0000 =-N,1336 00000
4,000 =0.,3755 =1.3937 =0,0000 =0, 1456 0.0000—

RESULTS AT THETA = 15,00 DEGREES

R7RT” STGMA R/P1 STGMATHETA7P1 TAU RTHETAZP] FUZRP1 EV/RPI— — —
15000 =1570000 =0,2009 050000 = T04R (a2 T53
1.250 =0+8355 ~0.1525 0,0000 012D =0e1703
1.500 =0.7169 =0.,0972 0,.0000 0.4707 =0s1003 ==
1.750 ~0+6236 =0.0433 0,0000 0.3109 =-00503
2.000 =0e5449 00058 0.0000 0. 199R =0e0128—
2.250 =-0.4731 0.0478 0,0000 0.1202 Ne0164
2.500 =0 3997 0.0797 G.0N00 0.0625 0+0397
2750 ~0¢3145 0.0998 0.0000 0.0218 0«0588
T 3.000 =0,2058 0.1129 0.0000 =0.0046 00747
3250 =0.0670 0.1471 0,0000 “N.0178 00882
T 3,500 0.0863 0.2888 0.0000 =0.0202 00997
3.750 0.1788 0.7530 =0.,0000 ~0.0188 01097
%.000 =0.0000 Z2.0126 =0.0000 =0.0339 0+11I85




TABLE 16. (Continued)

RESULTS AT THETA = 22.50 DEGREES

—rof o= i N —— 8520098500001 0195 =0+4018 —— —————-
1,250 -0,R356 -0,1524 -0,0000 0,6437 =0+2465
1,500 3T T T /77 - 1] =0,0002 0,4138 w0 ke30 ="
1,750 -0,6246 =0,0424 -0,0010 0.,2620 =0.0691

— 2,000 =0, 95486 0,0090 =0,003% 0. 1567 =0+ 0139
2,250 -0,4839 0,0567 -0,0099 0,08009 0.0285
2,500 =0, 427F 0,1009 =0, 0245 0,0249 n.o6l3———— -
2,150 -0,3777 0,1419 -0,0527 -0,0172 0.0866
3,000 -0,3328 0,1800 -0,0971 =0,049¢ s e ——
3,250 =-0,2920 0,2156 -0,1467 -0,0742 0.1219
3,500 -0,2545 0,2488 -0,1504 -0,0933 0.1436
3,750 -0,2199 00,2800 0,0371 -0,1087 0.,1915

4,000 =0, I8TT 0.309% - e £ 0 10 1 g o3r2d —

RESULTS AT THETA = 30.00 DEGREES

T R/RT  SIGMA R/PT “SIGMA THETAZ7PT — TAU RTHETAZ7PY — EUZRP] EN/ZRBY 7

I+000 =1.0000C =022009 =H e 0000 — — Oa80P1— — =Owola————
1.250 =0.8356 01524 =0,0000 05498 =0«3120
T.500 07174 =0.0967 =0.0000 Ne3355 =0e] 768
1750 -0eh256 =0.0415 =0.0000 Ne194R =0e0801
2.000 =0.5572 0.0122" =0.0000 040976 =ne0077
2‘250 ‘0.4948 0-0657 '000000 0.0274 0'“487
T 2.500 =0+4555 01227 =0.0000 =0.0255 Ne 0938
24750 -0e4400 01841 =0.0000 -0 NATR 061307
3,000 = 455K 0.2472 =0.0000 =0.1040 De161%
3.250 -0«5169 0.2840 =0.0000 -0.1404 Nel1874
TTT3.500 =0.5954 T 0.208R =0,0000 =fitsr - he2097 T
3,750 -0 eh156 ~0a1929 _ 0.0000 -0.2061 Ne2290
4,000 =(.3755 =1.3937 0,0000 =0.2135% DeP459 "




